MR

BRE

=

40T EE AR AT SARKERARE T Z b
2EFR BE (&%) MBERME Ccrossn
=
-
7 A A A REE /
(1)
* 5 ¥ E LK /= Pk (mE /
(2) 38 R /S
(3) TITRY > /
BAIKFELEWKT) =7 F v 2ILAREVNTEY ., 44
S OEERBRIZHE S THEOR LN KTASANE %
(4) /
(5) A. E /
a) AN: /
(6)
b) 7)) 7 4aRa /
a) RRE() A /| R D /
(7) | b) B /
c) A /




- =
=2

RfT FERRFRIULFREERARE T X b

£ER BH (&Y BERAEK Cross2)

=)
(%)
7 N7FYT7 (fmE-EEME) | A T—X7(EME) S
(8)
Hy yRY — 4 /| = Tx T (BxEY)
(9) D /
(10) A. B. D /
(1) E /
DNA %873 5B & DNA % ##: 9 58 %
a) D / B /
TSI RLBIEFEELONAKHE L OBELELRD>D
b) 5 E I HARIEEY IS DA D, /
(12)
c) A /
d) #EX A S| Ry C /
FEEBEENIRIC, pGLO 2B YD H - - KIG
e) /

B BET 595,

(13)




